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Williamson (2nd ed): Ch 1- 8  (2004/1/13, 9:10-11:00 am)     
總分:110 分
I. 單選題 (40 分, 每題4分)

注意：答案請寫在選擇題最後一題下面的答案格上。

1. The real wage denotes

(a) the number of units of labor time that can be exchanged for one unit of leisure time.

(b) the number of units of labor time that can be exchanged for one unit of consumption goods.

(c) the number of units of leisure time that can be exchanged for one unit of labor time.

(d) the number of units of consumption goods that can be exchanged for one unit of labor time.

2. The production function of the economy is described as
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.  Output, capital stock, and labor force grow at the rate of 8%, 10%, and 4% respectively.  The contribution of technological growth measured as Solow residual would be

(a) 2.20%

(b) 2.00%

(c) 1.52%

(d) 1.00%

3. Changes in government spending are not likely causes of business cycles because government spending induced business cycles would, counterfactually predict

(a) countercyclical employment.

(b) procyclical employment.
(c) countercyclical consumption.

(d) procyclical consumption.

4. In the steady state of Solow’s exogenous growth model, an increase in the population growth rate

(a) increases output per worker and increases capital per worker.

(b) increases output per worker and decreases capital per worker.

(c) decreases output per worker and increases capital per worker.

(d) decreases output per worker and decreases capital per worker.
5. When consumption and leisure are both normal goods, a decrease in real dividend income, the rational consumer
(a) increases consumption and increases leisure.

(b) increases consumption and reduces leisure.

(c) reduces consumption and increases leisure.

(d) reduces consumption and reduces leisure.

6. An important reason why Ricardian equivalence may fail is if

(a) borrowing and lending is done through intermediaries.

(b) government debt incurred today may not be paid off until after some current consumers are deceased.

(c) state and local governments also engage in debt finance.

(d) some consumers are borrowers, while other consumers are lenders.
7. Consumption smoothing refers to

(a) the tendency of all consumers to choose the same amount of current consumption.

(b) the tendency of consumers to seek a consumption path over time that is smoother than income.

(c) the tendency of consumers to seek an income path over time that is smoother than consumption.

(d) consumer’s concerns about going heavily into debt.
8. An increase in first-period income results in

(a) an increase in first-period consumption, an increase in second-period consumption, and an increase in saving.

(b) an increase in first-period consumption, a decrease in second-period consumption, and an increase in saving.

(c) a decrease in first-period consumption, an increase in second-period consumption, and an increase in saving.

(d) an increase in first-period consumption, an increase in second-period consumption, and a decrease in saving.

9. The endowment point is the consumption bundle in which

(a)
first-period consumption is equal to zero.

(b)
second-period consumption is equal to zero.

(d)
consumption is equal to disposable income in each period.
(c)
the consumer finds the most utility.
10. For a borrower, an increase in the real interest rate

(a)
definitely reduces current consumption and increases future consumption.

(b)
reduces current consumption and has an uncertain effect on future consumption.

(c)
has an uncertain effect on current consumption and increases future consumption.

(d)
has an uncertain effect on both current and future consumption.
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II.申論題與計算題 (總分: 70 分) 
答案請直接寫在題目卷上。
(計算題請寫計算過程，只有答案不計分，式子正確但計算錯誤部分給分。

分析題請說明過程。)
1.
Acme Steel Co. produces 1000 tons of steel. Steel sells for $30 per ton. Acme pays wages of $10,000. Acme buys $15,000 worth of coal, which is needed to produce the steel. Acme pays $2,000 in taxes. (8%)
(1)   Acme’s contribution to GDP is____________. 

 (2)   Acme’s profit counted in national income is ___________.  
2.  If total factor productivity increases, determine using diagrams how this affects the golden rule quantity of capital per worker and the golden rule savings rate. Explain your results. (15%)

3. The 2004 tsunami (大海嘯) in Southern Asia can be described as a decrease in total factor productivity.  Determine the effects tsunami has on consumption, employment, aggregate output, and the real wage.  Draw graphs and explain your results with reference to income and substitution effects. (15%)

4.
Assume a two-period economy with 2 consumers, Mr. A and Miss B.  Both A and  B have no initial wealth.  Mr. A’s income in the current period is yA=$80, and income in the future period is yA’=$120. Miss B’s income in the current period is yB=$100, and income in the future period is yB’=$80.  The Government spending is $20 in each period. Each consumer pays the same amount of lump-sum taxes in each period.  That is, tA=$10, tB=$10, tA’=$10, and tB’=10.  The nominal interest rate is 10% and inflation rate is 4% per period. (Total: 20%)

(1). Suppose that current and future consumption are perfect complements for Mr. A and that he always wants to have equal consumption in the current and future periods.  Determine what A’s optimal fist- and second-period consumption are, and what optimal saving is.  Is Mr. A a lender or a borrower? (10%)

(2).
Suppose the government cuts current tax by $20 such that tA=$0, tB=$0, but it does not change its spending in both periods.  According to Ricardian equivalence, what is the impact on A’s consumption and saving in the current period.  (6%)
(3).
According to (2), calculate national saving and the amount of bond issued by government. (4%)

5. In a two-period (dynamic) macroeconomic model, there are a representative household and a government. (Total: 12%)

(1) Please derive the corresponding Walras’ law. (10%)

(2) What are the equilibrium prices to be determined when general equilibrium is reached. (2%)
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